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Question No : 1

Which statement is NOT true?

A. The Decision Server is based on Eclipse

B. The Decision Server allows to set up rules and events projects, define vocabularies
C. The Decision Server allows to do traditional software unit testing and step-by-step
debugging

D. Rules and events projects are deployed only from the Decision Center

E. Decision services are organized from the Decision Server

Answer: C

Question No : 2

IBM BPM is primarily composed of 5 elements. Which is NOT one of the elements?

A. Process Designer
B. Decision Center

C. Integration Designer
D. Process Server

E. Process Portal

Answer: E

Question No : 3

What type of help are city leaders around the globe looking for by partnering with IBM for
Smarter Cities?

A. Turn data into actionable information

B. Develop a solution roadmap that is specific to their needs

C. Harness real world examples that can be used to crystallize their actions and champion
their own cause.

D. All of the above

Answer: D
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Question No : 4

Blueworks Live is available on a private cloud.

A. TRUE
B. FALSE

Answer: A

Question No : 5

Models developed in Blueworks Live can be exported to:

A. IBM BPM for real-time execution
B. MS Office

C. PureApplication

D. All of the above

Answer: A

Question No : 6

IBM ODM is offered on Distributed Platforms, Z or as application patterns for Pure.

A. TRUE
B. FALSE

Answer: A

Question No : 7

How is the customer charged for the IBM Intelligent Transportation - SaaS Offering?

A. Standard licensing
B. Monthly charge
C. Subscription and Support
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D. Monthly Licensing Charge (MLC)

Answer: C
Explanation:

Intelligent Transportation on Cloud is hosted and managed by IBM, and cities subscribe to
the service and access it through the Internet.

Answer: A

Question No : 8

IBM BPM licenses come in 3 options: Advanced, Standard and Express. Which statement
is NOT true?

A. Only IBM BPM advanced is offered as a Pure Application Pattern

B. Only IBM BPM advanced is offered as SaaS on IBM Softlayer

C. Worklight Enterprise Edition non production entitlement is available with Express.
Standard and Advanced

D. Unlimited number of participants is available only with Standard and Advanced options

Answer: C

Question No : 9

Your customer has IBM BPM, which allows them to monitor their business processes. Why
would you recommend IBM Business Monitor?

A. You wouldn’t

B. Because business users want to create their own KPIs and define alerts.
C. To create new dashboards without I/T involvement

D. None of the above

Answer: B
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Question No : 10

How is IBM Business Monitor licensed?

A. SaaS
B. Per user
C. PVU based

Answer: C



